OnopHble PONUKK

KR-PP

OnopHbI ponnK ¢ Landoi

Mo-
Koadpd. Koadpdp. m™eHnT- Crart.

Pa3mepbl, MM
YctaHoB. Max k-Bo  [IuH. Harp.

ApTtukyn ~ Harpysku Harpysku 3satsbk- Harp.CO, Bec, kr
BUHT G 06-B, rpm C(N) cN) co(N) “w N
D B B1 B2 B3 Cc C1 d1 d2 d3 Lg w
(Nm)
KR16-PP 16 28 122 16 - 11 06 60 N12;51 B 8 - M6 16000 3800 3150 3300 8 3750 0,018
KR19-PP 19 32 122 20 - 11 06 8 15 - 10 - M8 14000 4250 3500 3900 8 4600 0,029
KR22-PP 22 36 132 23 - 12 06 10 175 - 12 5] M10x1 11000 5700 4450 5200 15 6500 0,043
KR26-PP 26 36 132 23 - 12 06 10 175 - 12 5 M10x1 11000 5700 5100 6200 15 6500 0,057

KR30-PP 30 40 152 25 6 14 06 12 23 3 13 6 M12x15 8300 8100 6800 8400 22 9700 0,088
KR32-PP 32 40 152 25 6 14 06 12 23 3 13 6 MI2x15 8300 8100 7100 9000 22 9700 0,098
KR35-PP 35 52 196 325 8 18 08 16 276 3 17 8 M16x1,5 7000 12900 9700 14100 58 19000 0,169
KR40-PP 40 58 216 365 8 20 08 18 315 3 19 8 M1815 6000 14200 10900 15500 87 20400 0,247
KR47-PP 47 66 256 405 9 24 08 20 365 4 21 10 M20x15 4900 19500 15500 25500 120 32000 0,386
KR52-PP 52 66 256 405 9 24 08 20 365 4 21 10 M20x1,5 4900 19500 16800 28500 120 32000 0,461
KR62-PP 62 80 306 495 11 29 08 24 44 4 25 14 M24x1,5 3800 30500 26500 47500 220 53000 0,802
KR72-PP 72 80 306 495 11 29 08 24 44 4 25 14 M24x15 3800 30500 28000 53000 220 53000 1,01

KR80-PP 80 100 37 63 15 35 1 30 53 4 32 14 M30x1,5 2600 45000 39500 77000 450 85000 1,608
KR85-PP 85 100 37 63 15 35 1 30 53 4 32 14 M30x1,5 2600 45000 40500 80000 450 85000 1,74

KR90-PP 90 100 37 63 15 35 1 30 53 4 32 14 M30x1,5 2600 45000 41500 83000 450 85000 1,95

Jlgiy




